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Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made 1t mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths m some countries last year. Safeguarding quality cannot be limited to some products or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility, not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches, CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical industry while protecting public health and patient rights 13 required. CDSCO 13 the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions

Question Number : 1 Question Id : 68634023080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for:

1. Center for Drugs Taste Control Organisation

[ B

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634091201. 1
68634091202. 2
68634091203. 3
68634091204. 4

Question Number : 2 Question Id : 68634023081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym or the term 'Overhaul’

1. Overhear

L2

. Examine
3. Excessive growth
4. Overexpose

Options :

68634091205. 1
68634091206. 2
68634091207. 3
68634091208. 4

Question Number : 3 Question Id : 68634023082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO

Options :

68634091209. 1
68634091210. 2
68634091211. 3
68634091212. 4

Question Number : 4 Question Id : 68634023083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Generic medicines are :
1. Medicines used by high class people.
2. Medicines having old brand name.
3. Medicines having no brand name.
4, Medicines meant for plants and animals only.
Options :
68634091213. 1

68634091214. 2
68634091215. 3



68634091216. 4

Question Number : 5 Question Id : 68634023084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

]

. 10 Million
3. 100 Mallion

4. 1000 Million

Options :

68634091217 1
68634091218. 2
68634091219. 3
68634091220. 4

Question Id : 68634023079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made 1t mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some products or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility. not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical industry while protecting public health and patient rights 1s required. CDSCO 15 the non-
statutory regulator under the health mimistry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions



Question Number : 1 Question Id : 68634023080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

[ o)

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634091201. 1
68634091202. 2
68634091203. 3
68634091204. 4

Question Number : 2 Question Id : 68634023081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym or the term 'Overhaul’

1. Overhear

L2

. Examine
3. Excessive growth
4. Overexpose

Options :

68634091205. 1
68634091206. 2
68634091207. 3
68634091208. 4

Question Number : 3 Question Id : 68634023082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO



Options :

68634091209. 1
68634091210. 2
68634091211. 3
68634091212. 4

Question Number : 4 Question Id : 68634023083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are ;

1. Medicines used by high class people.

[

. Medicines having old brand name.

. Medicines having no brand name.

LF¥]

4. Medicines meant for plants and animals only.

Options :

68634091213. 1
68634091214. 2
68634091215. 3
68634091216. 4

Question Number : 5 Question Id : 68634023084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

[

. 10 Mallion

. 100 Mallion

[ ¥%]

4. 1000 Million

Options :

68634091217. 1
68634091218. 2
68634091219. 3
68634091220. 4

Sub-Section Number : 2
Sub-Section Id : 686340750
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634023085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the meaning of the underlined word in the following sentence:
He 1s done for.

1. revived

| ]

. ruined
3. glorified

4. encouraged

Options :

68634091221. 1
68634091222. 2
68634091223. 3
68634091224. 4

Question Number : 6 Question Id : 68634023085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined word in the following sentence:

He 1s done for.

1. revived

| )

. tuined
3. glorified
4. encouraged

Options :

68634091221. 1
68634091222. 2
68634091223. 3
68634091224. 4

Question Number : 7 Question Id : 68634023086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common

Q. love. friendship and respect

R. do not unite people as

S. hatred for something

Choose the correct answer from the options given below:

I.LS.PR.Q

[

Q.S.R.P
3.P.Q.S.R

4.Q.R.PS

Options :

68634091225. 1
68634091226. 2
68634091227. 3
68634091228. 4

Question Number : 7 Question Id : 68634023086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common

Q. love. friendship and respect

R. do not unite people as

S. hatred for something

Choose the correct answer from the options given below:

1.S.PR.Q

[ ]

Q.S.R.P
3.P.Q.S.R

4.Q.R.PS

Options :

68634091225. 1
68634091226. 2
68634091227. 3
68634091228. 4



Question Number : 8 Question Id : 68634023087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word in the following sentence.
You are paying less attention to your studies than you used to do.

1. Noun

| )

. Pronoun
3. Verb
4, Adjective

Options :

68634091229. 1
68634091230. 2
68634091231. 3
68634091232. 4

Question Number : 8 Question Id : 68634023087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the part of speech of the underlined word in the following sentence.

You are paying less attention to your studies than yvou used to do.

1. Noun

| ]

. Pronoun
3. Verb
4. Adjective

Options :

68634091229. 1
68634091230. 2
68634091231. 3
68634091232. 4

Question Number : 9 Question Id : 68634023088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the passive voice of the following sentence.

She looks after the child.

1. The child are looked after by her.

| ]

. The child were looked after by her.
3. The child is looked after by her.

4. The child looks after her.

Options :

68634091233. 1
68634091234. 2
68634091235. 3
68634091236. 4

Question Number : 9 Question Id : 68634023088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the passive voice of the following sentence.

She locks after the child.

1. The child are looked after by her.

[ B

. The child were looked after by her.

LS ]

. The child is looked after by her.

4, The child looks after her.

Options :

68634091233. 1
68634091234. 2
68634091235. 3
68634091236. 4

Question Number : 10 Question Id : 68634023089 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the one word for the followmng:
" s . cl "
Possessing unlimited powers.

1. Omuniscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634091237. 1
68634091238. 2
68634091239. 3
68634091240. 4

Question Number : 10 Question Id : 68634023089 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the one word for the followng:
LL . ¥ : = "
Possessing unlimited powers,

1. Omniscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634091237. 1
68634091238. 2
68634091239. 3
68634091240. 4

Question Number : 11 Question Id : 68634023090 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following was an Indian astronomer. mathematician and astrologer who lived in Upain i the
6t century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

[

. Gotam Muni

. Ishwaralorishna

L¥¥]

. Varahamihira

s

Options :

68634091241. 1
68634091242. 2
68634091243. 3
68634091244. 4

Question Number : 11 Question Id : 68634023090 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was an Indian astronomer. mathematician and astrologer who lived in Ujjain in the
6t century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

(]

. Gotam Muni

. Ishwaralrishna

%)

. Varahamihira

e

Options :

68634091241. 1
68634091242. 2
68634091243. 3
68634091244. 4

Question Number : 12 Question Id : 68634023091 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1.PT. Usha

(]

. Vijendra Singh
3. Neeraj Chopra

4. PV. Sindhn



Options :

68634091245. 1
68634091246. 2
68634091247. 3
68634091248. 4

Question Number : 12 Question Id : 68634023091 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1.P.T. Usha

o)

. Vijendra Singh

L¥¥]

. Neeraj Chopra

4. PV. Sindhn

Options :

68634091245. 1
68634091246. 2
68634091247. 3
68634091248. 4

Question Number : 13 Question Id : 68634023092 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Milk produced during the initial few days of 'lactation’ 1s called :
1. Antrum
2. Colostrum

. Fulerum

L¥¥]

4. Cholesterol

Options :

68634091249. 1
68634091250. 2
68634091251. 3
68634091252. 4

Question Number : 13 Question Id : 68634023092 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Milk produced during the initial few days of 'lactation’ 1s called :

1. Antrum

(]

. Colostrum
3. Fulerum

4. Cholesterol

Options :

68634091249. 1
68634091250. 2
68634091251. 3
68634091252. 4

Question Number : 14 Question Id : 68634023093 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A. B and D only

[

.B, Cand D only
3. Cand D only

4. D only

Options :

68634091253. 1
68634091254. 2
68634091255. 3
68634091256. 4

Question Number : 14 Question Id : 68634023093 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A. B and D only

[

.B. C and D only
3. C and D only

4. D only

Options :

68634091253. 1
68634091254. 2
68634091255. 3
68634091256. 4

Question Number : 15 Question Id : 68634023094 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following constitute the electoral college for electing the President of India?

ected members of Lok Sabha

AL El
B. Elected members of the Legislative Assembly of each state
1
1

C. Elected members of the Legislative Council
D. Elected members of Rajya Sabha
Choose the correct answer from the options given below:

1. A, B and D only

[

. A, CandD only
3.B.Cand D only

4. A and B only

Options :

68634091257. 1
68634091258. 2
68634091259. 3
68634091260. 4

Question Number : 15 Question Id : 68634023094 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following constitute the electoral college for electing the President of India?

lected members of Lok Sabha

lected members of the Legislative Assembly of each state
C. Elected members of the Legislative Council

D. Elected members of Rajya Sabha

AE
B.E

Choose the correct answer from the options given below:

1. A. B and D only

[

A, Cand D only

.B. C and D only

[¥¥]

4. A and B only

Options :

68634091257. 1
68634091258. 2
68634091259. 3
68634091260. 4

Question Number : 16 Question Id : 68634023095 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students. the position of Vikas from the left side of the row is 18 and the position of Vikas from

8™ Find the total number of students in the row?

the right side of the row 13 3
1. 55
2. 56

. 57

[¥¥)

4. 58

Options :

68634091261. 1
68634091262. 2
68634091263. 3
68634091264. 4

Question Number : 16 Question Id : 68634023095 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a row of students. the position of Vikas from the left side of the row 1s 18t and the position of Vikas from

the right side of the row 1s 3

1.

[

e

8™ Find the total number of students in the row?

55

. 36

ST

. 58

Options :

68634091261. 1
68634091262. 2
68634091263. 3
68634091264. 4

Question Number : 17 Question Id : 68634023096 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged in descending order, which among the
tollowing corresponds to the smallest number?

1l

2

[¥%)

4.

865

. 468

. 593

786

Options :

68634091265. 1
68634091266. 2
68634091267. 3
68634091268. 4

Question Number : 17 Question Id : 68634023096 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged in descending order, which among the
tollowmg corresponds to the smallest number?

1l

2

[¥¥]

4.

865

468

- 593

786

Options :



68634091265. 1
68634091266. 2
68634091267. 3
68634091268. 4

Question Number : 18 Question Id : 68634023097 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country is absolutely self-dependent these days.
Conclusion : I It 15 impossible to grow and produce all that a country needs.

II. The people of the country in general have become lazy.

1. Only II conclusion follows.

[

. Both I and IT conclusion follows.

. Either I or IT follows.

LN

e

. Only I conclusion follows.

Options :

68634091269. 1
68634091270. 2
68634091271. 3
68634091272. 4

Question Number : 18 Question Id : 68634023097 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country is absolutely self-dependent these days.
Conclusion : I It 15 impossible to grow and produce all that a country needs.

II. The people of the country in general have become lazy.

1. Only II conclusion follows.

[

. Both I and IT conclusion follows.

. Either I or IT follows.

LN

i

. Only I conclusion follows.

Options :

68634091269. 1
68634091270. 2
68634091271. 3
68634091272. 4



Question Number : 19 Question Id : 68634023098 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

1. 18

_L_J

17
3. 16
4. 15

Options :

68634091273. 1
68634091274. 2
68634091275. 3
68634091276. 4

Question Number : 19 Question Id : 68634023098 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

| ]
—
e |

4. 15

Options :

68634091273. 1
68634091274. 2
68634091275. 3
68634091276. 4

Question Number : 20 Question Id : 68634023099 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Six friends Arun. Babita, Chandra. Dipika. Ekta and Faria are sitting in a row facing towards North. Chandra
1s sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 1s not
at the right end. Who is at the immediate right of Dipila?

1. Arn

[

. Babita
3. Chandra

4. Eldta

Options :

68634091277. 1
68634091278. 2
68634091279. 3
68634091280. 4

Question Number : 20 Question Id : 68634023099 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Arun. Babita, Chandra. Dipika. Ekta and Faria are sitting in a row facing towards North. Chandra
1s sitting between Arun and Ekta. Dipika is not at the end. Babita 1s sitting immediate right to Ekta. Faria 12 not
at the right end. Who is at the immediate right of Dipila?

1. Arun

(o

. Babita
3. Chandra

4, Eldta

Options :

68634091277. 1
68634091278. 2
68634091279. 3
68634091280. 4

Question Number : 21 Question Id : 68634023100 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation 3x” — 10x + 2p = 0 has equal roots then the value of p is -

[

Options :

68634091281. 1
68634091282. 2
68634091283. 3
68634091284. 4

Question Number : 21 Question Id : 68634023100 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation 3x* — 10x + 2p = 0 has equal roots then the value of p is -

25

L
|

[

Options :

68634091281. 1
68634091282. 2
68634091283. 3
68634091284. 4

Question Number : 22 Question Id : 68634023101 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a certamn sum mvested on compound interest becomes 3 tumes m 4 years, then the no. of years in which this
sum will become 27 times at the same rate of interest 1s -

1. 16 years

[

. 18 years

|5

. 15 years
4. 12 years

Options :

68634091285. 1
68634091286. 2
68634091287. 3
68634091288. 4

Question Number : 22 Question Id : 68634023101 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a certamn sum mvested on compound interest becomes 3 tumes i 4 years, then the no. of years in which this
sum will become 27 times at the same rate of interest 1s -

1. 16 years

[

. 18 years

L¥¥]

. 15 years
4. 12 years

Options :

68634091285. 1
68634091286. 2
68634091287. 3
68634091288. 4

Question Number : 23 Question Id : 68634023102 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two fair dice are thrown. The probability that the number of tumes the first dice exceeds 3 and that the second

exceeds 4 will be :

j 2
6

th

(]
I

|t o=

=

Options :

68634091289. 1
68634091290. 2
68634091291. 3
68634091292. 4

Question Number : 23 Question Id : 68634023102 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two fair dice are thrown. The probability that the number of tumes the first dice exceeds 3 and that the second
exceeds 4 will be :

j =
6

A

o=

| 7

=h

Options :

68634091289. 1
68634091290. 2
68634091291. 3
68634091292. 4

Question Number : 24 Question Id : 68634023103 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of 11 numbers 1s 52. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 1s
49. The sixth number 1s :

1. 51

[

.48
3.52

4. 55

Options :

68634091293. 1
68634091294. 2
68634091295. 3
68634091296. 4

Question Number : 24 Question Id : 68634023103 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 11 numbers 15 52. The average of the first 6 numbers i3 55 and the average of last 6 numbers 1s
49. The sixth number 1s :

Options :

68634091293. 1
68634091294. 2
68634091295. 3
68634091296. 4

Question Number : 25 Question Id : 68634023104 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trams each of length 250 m start at the same time on two parallel tracks from point A and point B and
approached each other with speed of 36 kim/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1.399.0 lan

[

. 400.0 lan

3.390.5 kan

4, 400.5 lon



Options :

68634091297. 1
68634091298. 2
68634091299. 3
68634091300. 4

Question Number : 25 Question Id : 68634023104 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trams each of length 250 m start at the same time on two parallel tracks from point A and point B and
approached each other with speed of 36 kim/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1.399.0 lan

|

. 400.0 lan
3.390.5 kan

4, 400.5 lon

Options :

68634091297. 1
68634091298. 2
68634091299. 3
68634091300. 4

Part B: Textile Design

Section Id : 686340458
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340751
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634023105 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
Satin weave I. |Floats
Fib weave II. |45 degree angular lines

Twill weave III. | Box like structure
Basket weave | IV. | Vertical'honzontal line

EEE

Choose the correct answer from the options given below:

1. AL B-IV. C-II. D-III

| ]

CA-IL B-IIL G-I D-IV
3. AL B-1. C-II. D-IV

4. A-IV, B-II. C-IIL. D-IV

Options :

68634091301. 1
68634091302. 2
68634091303. 3
68634091304. 4

Question Number : 26 Question Id : 68634023105 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 61 gl 11 9 fHaH Sifen
T 1 = 10
A [ S L |[wilcH
B. [R& g5 1L |45 T&UT vy wany
C fgass 11 [fgssd Sigl €]
D. [l @=he) | IV. [l aifes an

FafaRad f[asedl § 9 9e! 3t &l 994 I

1. A-I. B-IV. C-II. D-III

)

A-IL B-III. C-1. D-IV

A-IIL B-1. C-II. D-IV

T

4. A-IV, B-II. C-III. D-IV

Options :

68634091301. 1
68634091302. 2
68634091303. 3
68634091304. 4



Question Number : 27 Question Id : 68634023106 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST1I LIST II

Abrasion Resistance| [ | Transfer of colour by rubbing

Crocking II. | Resistance to rubbing

Bursting strength | IIT | Force required to tear a fabric

EEE

Tearing strength IV. | Force required to rupture a fabric

Choose the correct answer from the options given below:

1. A-IT. B-I. C-IV. D-III

| ]

CA-IIL B-IV, C-I. D-I1

A-L B-IIIL C-IV. D-I1

L¥ N

4. A-Il. B-I. C-III. D-IV

Options :

68634091305. 1
68634091306. 2
68634091307. 3
68634091308. 4

Question Number : 27 Question Id : 68634023106 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At 161 i 11 9 B Sifen
T 1 g1 11

EEmufy | L Reres 1 e i
EAIER II. RiTeH @& &1 ufaey
EHe adl | 1L [[ddl e &l IR & (91U H[agd aldd
AeRu aodr | IV. [ @0 &) BIad & a4 Haead didd

FafaiRad f[osedl § 9 9g! 3t &l 994 S

1. A-II. B-I. C-IV. D-III

ofo|w|x

)

A-IIL B-IV. C-1. D-II

A-L B-IIIL C-IV, D-II

T

4. A-IL. B-L. C-III. D-IV

Options :

68634091305. 1
68634091306. 2
68634091307. 3



68634091308. 4

Question Number : 28 Question Id : 68634023107 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |ATIRA I. | Surat
B. |NITRA II. | Ahmedabad
C. |MANTRA ITI. | Coimbatore
D. |SITEA I'V. | Ghaziabad

Choose the correct answer from the options given below:

1. A-I, B-II, C-I11, D-IV

| ]

CA-IL B-IV, C-1, D-III

CA-TV, B-IOT, C-I1, D-I

%)

4. A-I1. B-IIL. C-IV, D-I

Options :

68634091309. 1
68634091310. 2
68634091311. 3
68634091312. 4

Question Number : 28 Question Id : 68634023107 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 o1 9= 11 ¥ e Sify
et 1 et I
ATIRA L fa
NITRA 1. [sErcEre

MANTRA |IIL [midace
SITRA IV [TigTErG

frafofed famedt & 9 W6 SR &1 907 S -

1. A-I, B-II. C-III. D-IV

gl o|w| =

| ]

CA-IL B-IV, C-IL D-III

CA-IV, B-IOLL C-I1, D-1

L]

4. A-II, B-II1. C-IV, D-1

Options :
68634091309. 1



68634091310. 2
68634091311. 3
68634091312. 4

Question Number : 29 Question Id : 68634023108 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A | Terry cloth I. | Scottish Checks
B. | Tweed II. |Puckered effect
C. | Seer Sucker |IIL [ Cut pile
D. | Velvet IV, | Loop piles

Choose the correct answer from the options given below:

1. A-ITT, B-IL. C-1, D-IV

| )

CA-TV, B-IL CA-ITT, D-II

CA-ITL BA-IOLL C-1L D-IV

[ ¥%)

4. A-IV, B-1, C-I1, D-III

Options :

68634091313. 1
68634091314. 2
68634091315. 3
68634091316. 4

Question Number : 29 Question Id : 68634023108 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 9= 11 9 e Sifo

el 1 T I
A [t auer L [Enlice dd
B. [ IL [g@el (Ue 2hae)
C. MR g®x |1 [He uEd
D. [dcde IV [og ursd
FafaRad faeel © I 981 SR &1 994 S -

1. A-IT1. B-IL. C-L. D-IV

| ]

CA-IV, B-1, C-II1, D-II

CA-IDL B-IOOL C-1 D-IV

Lad

4. A-IV, B-1, C-II, D-III



Options :

68634091313. 1
68634091314. 2
68634091315. 3
68634091316. 4

Question Number : 30 Question Id : 68634023109 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I1
A |Double Pique' | 1. |Intarsia
B |Agile II. | Warp knit
C. |Mi Lanese ITT. | Weft knit fabric|
D. Jersey IV, [Double knit

Choose the correct answer from the options given below:

1. A-I. B-II. C-I1I. D-IV

|

A-IL B-IILL C-IV, D-1
3. A-IV, B-L. C-I1, D-IIT
4. A-IV, B-II. C-III. D-I

Options :

68634091317. 1
68634091318. 2
68634091319. 3
68634091320. 4

Question Number : 30 Question Id : 68634023109 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oy o

gl 151 9= 11 9 e Sifoy

Gl T I
A [aT83 3HR (Sadl fudh)| I [geRRim
B. [sramsa IL [ g5
C. [ I11. [T §311 B3I
D. [&dl V. Gl g1
e fawedl © 9 Jg! SR &1 99 Hife -

1. A-I, B-II. C-IIL. D-IV

| ]

CA-ILL B-IOT, C-IV, D-I
3. ATV, B-1, C-11. D-IIT
4. A-IV, B-1I, C-III, D-I

Options :

68634091317. 1
68634091318. 2
68634091319. 3
68634091320. 4

Question Number : 31 Question Id : 68634023110 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Naravanpet Sar I. | Odisha
B. | Kotpad San II. | Maheshwari
C_ | Garbh-Reshmi Sari | [T | Karnataka
D | Kodalikarupur IV | Tanjore

Choose the correct answer from the options given below:

1. A-IV, B-I. C-II. D-III

| )

. A-IILL B-I1. C-IV. D-I1
3. A-l. B-III. C-IL. D-IV

4. A-IIL. B-1. C-I1. D-IV

Options :

68634091321. 1
68634091322. 2
68634091323. 3
68634091324. 4



Question Number : 31 Question Id : 68634023110 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy o

= 1 1 gl 11§ fie Siforn

A I T I
. FRmEe grel| I [sifsam
@iculs Ulal | I [l
T3 Frst [ 1L [ les

@ISIAHIIR [ IV. [doiR
frafeiad faseat & 9 Jet 3ok &1 98- Sifeu -

1. A-IV, B-1, C-II. D-III

REIE

| ]

CA-IL B-IL C-IV, D-II
3. A-L B-IIL. C-11., D-IV

4. A-IIT, B-1. C-IT. D-IV

Options :

68634091321. 1
68634091322. 2
68634091323. 3
68634091324. 4

Question Number : 32 Question Id : 68634023111 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Kinkhawabs I. [tissue Brocade
B. |Bafia II. |heavy gilt Brocade
C. |Abrawan III. [Pure Silk Brocade
D. Jamru IV, [Less zan with silk Brocade

Choose the correct answer from the options given below:

1. A-IT. B-IIL. C-IV, D-I

| )

A-IL B-IV, C-1. D-III
3. AL B-IV, C-1. D-IT

4. A-II. B-IIL. C-1. D-IV

Options :

68634091325. 1
68634091326. 2
68634091327. 3



68634091328. 4

Question Number : 32 Question Id : 68634023111 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 =1 11 ¥ T Sifey
T 1 gt 11

A [pHEare L [gaHl ey siss)
B. [aTmT 1L [ Te3 sid e
C. [smmam 111 [faR1G W sl s
D. [ IV. R¥H §ldbs o "1y HH o]

fFrafarad famet | T W5l SR &1 997 DI -

1. A-IT. B-III, C-IV, D-I

| )

CA-IL B-IV. C-1, D-III

A-IIL B-IV. C-I1, D-II

L% )

4. A-II. B-1II. C-1. D-IV

Options :

68634091325. 1
68634091326. 2
68634091327. 3
68634091328. 4

Question Number : 33 Question Id : 68634023112 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inter-polymer bonds are:

A. Cross links

B. Salt linkages

C. Ether linkages

D. Benzene rings

E. Vander Waal's forces

Choose the correct answer from the options given below:

1. A.B.E only

| ]

.B. C. A only

[ ¥%]

.D. B. A only

4.D. C. B only

Options :
68634091329. 1



68634091330. 2
68634091331. 3
68634091332. 4

Question Number : 33 Question Id : 68634023112 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRERS IR 6.

A, ORI BfETi g

B. WUy ®fsai g

C. R BSa 8

D. Sl & Bl &

E. gsR did 9 (B &

Ty

i fau 7E fam el & ¥ 98! 3R &1 9949 HIIT;
1.Hdd A, B.E

AU B, C. A

3.%au D, B.A

4.Had D, C, B

Options :

68634091329. 1
68634091330. 2
68634091331. 3
68634091332. 4

[ ]

Question Number : 34 Question Id : 68634023113 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synthetic environment friendly fabrics are:

A. Modal
B. Tencel
C. Goretex
D. Coolmax
E. Kevlar

Choose the correct answer from the options given below:

1. A.B. Conly

| B

.B.C.D only
3.C.D.E only

4. A.D. E only

Options :

68634091333. 1
68634091334. 2
68634091335. 3
68634091336. 4

Question Number : 34 Question Id : 68634023113 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P () gaiar 3Hd $Us -

e feu U fasedl | § 98l IR & 904 Hifo:
1.Pdd A, B, C

. $ddB,C.D

3. %49 C,D.E

4.%dd A, D.E

Options :

68634091333. 1
68634091334. 2
68634091335. 3
68634091336. 4

[ ]



Question Number : 35 Question Id : 68634023114 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most common methods of dyeing are:

A. Beck dyeing
B. Jet dyeing

C. Jig dyeing
D. Beam dyeing
E. Flat dyeing

Choose the correct answer from the options given below:

1.A.B. D, E only

| B

.B.C.D.E only
3.A B.C.D only

4. A C.D.E only

Options :

68634091337.
68634091338.
68634091339.
68634091340.

AW N =

Question Number : 35 Question Id : 68634023114 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS (BT8T) & Fad TH- W &

A. 9% TS
B. Glc TS
c. fomamg
D. sIH ¥I1g
E. i 5

i fau U fasedl | O el IR & 904 HIfo:
1. 99U A, B.D,E

. $dd B, C,D.E

.&dd A, B,C.D

4.%ddA,C,D,E

Options :
68634091337. 1
68634091338. 2

| )

L]



68634091339. 3
68634091340. 4

Question Number : 36 Question Id : 68634023115 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These textiles are produced with 'Bandh' Resist Techmique.

A. Telia Rumal
B. Gharchola
C. Mothra

D. Rogan

E. Pomcha

Choose the correct answer from the options given below:

1.A.B.C.E only

| B}

.A.B.D. E only
3.B.C.D.E only

4. A C.D.E only

Options :

68634091341.
68634091342.
68634091343,
68634091344.

AW N =

Question Number : 36 Question Id : 68634023115 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S a5l & o H |y ufaiy aeHid ® SdHd oidl 6:

A, dierdr sH1d
B. 934l
C. "l
D. I
E. Qi1
i< fau o fasedl 2 9 It IR &1 994 SIf.
1.$dd A, B, C.E
. $PdI A, B.D.E
. $ddB,C.D.E

4. PAAA,.C.D.E

| )

L



Options :

68634091341. 1
68634091342. 2
68634091343. 3
68634091344. 4

Question Number : 37 Question Id : 68634023116 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What all pomts will you keep m mind while choosing appropriate fabric while shopping?

A, Appearance
B. Flexibility
C. Comfort

D. Performance
E. Durability

Choose the correct answer from the options given below:

1. A.B. C.D only

|

.B.C.D.E only
3.A.C.D.E only

4.C,D.E.B only

Options :

68634091345.
68634091346.
68634091347.
68634091348.

A W N =

Question Number : 37 Question Id : 68634023116 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GIER] & T99 Hel $Us B I11d 3 [6a1 91l 82 $9® o HAiiad [4gaf &1 & T 3G 918U
A. fe@mEe
B. {1
C. HRE
D. UE¥H
SRGEARNE]
e feu e fdeedl | © 9el 3R &1 994 $Ioe:
1. FAAA.B.C.D
. $ddB,C.D.E
3. P40 A.C.D.E

4, %daC,D.E.B

Options :

68634091345. 1
68634091346. 2
68634091347. 3
68634091348. 4

(R

Question Number : 38 Question Id : 68634023117 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major motions of a loom are:

A. Filling

B. Shedding
C. Picking

D. Beating up
E. LET-OFF

Choose the correct answer from the options given below:

1. A.B. D, E only

| ]

.B.C.D.E only
3.A.C.D.E only

4.D.C.B. Aonly

Options :

68634091349.
68634091350.
68634091351.
68634091352.

A W N =



Question Number : 38 Question Id : 68634023117 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U HIY P T T & &

A. Ttefef
B. SIS
c. fufd
D. §ifeT 319
E. de-3H

- fau TTe fam el # € Hel SR &1 997 S
1.9dd A, B,D,E

.%du B, C,D.E

.Pdd A, C,D,E

4. 990D, C,B. A

Options :

68634091349. 1
68634091350. 2
68634091351. 3
68634091352. 4

| ]

Lad

Question Number : 39 Question Id : 68634023118 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are the famous subject matter of Chamba Rumal

A Rasmala

B. Daily life

C. Rasa Mandal
D. Hunting Scenes
E. Nayika Bheda

Choose the correct answer from the options given below:

1.A.C.D,E only

[ )

.A.B.C.D only
3.A.B.D.E only

4. A.B.C.E only

Options :
68634091353. 1
68634091354. 2



68634091355. 3
68634091356. 4

Question Number : 39 Question Id : 68634023118 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=91 SHTE DI At fava-a%g &:

A, THATAT
B. & witgq
C. a9 dsd

D. R =g
E. & U5

i U U f[deedl | ¥ 9el 3R &l 994 I
1.$ad A, C.D.E

A A, B,C.D

3.%dd A, B.D.E

4. HdA A, B.C.E

Options :

68634091353. 1
68634091354. 2
68634091355. 3
68634091356. 4

[

Question Number : 40 Question Id : 68634023119 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Pochampalli 1s famous for 1ts ikat saris.

Statement IT: Andhra Pradesh's that saris appear to have closer ties with Gujarat

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement I are true

|

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 15 false

4. Statement I 1s false but Statement II 15 true

Options :

68634091357. 1
68634091358. 2
68634091359. 3



68634091360. 4

Question Number : 40 Question Id : 68634023119 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
it & By UL E:
B 1 TreAgT iU 3@ Wil & g ARgR 3
HYT IL: 1Y YN DI g TSl &1 oRId U TAdlD! Tae o 1l g
SIRITd DU & 3l H, A f4u 70 faeredl & ¥ Tl SR &1 98- Fifw:
1. PU 1 AR I SH T &
Y1 AR I ST ET 3

| ]

3. PYT I I 5. AP HYT 11 T &

4. PYTI T . AFTFY I T ©

Options :

68634091357. 1
68634091358. 2
68634091359. 3
68634091360. 4

Question Number : 41 Question Id : 68634023120 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements:

Statement I: The discontinuous weft threads does not extend the full width of the textiles.

Statement IT: Banarasi Sar1 1s weaved in disconfinuous weft threads.

In the hight of the above statements. choose the meost apprapriate answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement 1T 1s false

4. Statement I 1s false but Statement I is true

Options :

68634091361. 1
68634091362. 2
68634091363. 3
68634091364. 4

Question Number : 41 Question Id : 68634023120 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
= &1 By R TU E:
FHYFTL: a9 (AU) & A UF Gl D1 YUl dIST5 P [AWIR 6l Hd o |
FYF II: TIRY] TTS] B a1 (AUE) & r&ad YT J 41 o1l o
SWRIgd HUH & 3fais H, i 34U 7 fasedl § ¥ gl S &1 90 D
1L P AR IS T &
 BY 1 IR 11 ST SR 8

[ )

3. PUT I 9d o, Al pYUT 11 ST &

4. BYTI HII g, AfpT pUT I I &

Options :

68634091361. 1
68634091362. 2
68634091363. 3
68634091364. 4

Question Number : 42 Question Id : 68634023121 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Gauge or Cut 1s the indicator of fineness or coarseness of a knitted fabric.

Statement II: Unit of gauge 1s number of needles per inch on the machine (npi)

In the light of the above statements, choose the most apprepriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[ B

. Both Statement I and Statement IT are incorrect
3. Statement I 1s correct but Statement IT 1s incorrect

4, Statement I is incorrect but Statement IT is correct

Options :

68634091365. 1
68634091366. 2
68634091367. 3
68634091368. 4

Question Number : 42 Question Id : 68634023121 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIECICAIEICUR) S
HYFI: U §- gU HYUS DI Te-al J1 R[Adl & Hbad &l s J1 He Ped g
®YA I1: 71T B 3PT5, ¢ TR R U 59 Rasdiggdl &f 9.7
IR HYA & AP H, A (S0 0 [deed] H U Usl 30 &1 999 DI9T0:
1. YA AR I S 9 §
PYTT AR TSI ST §

| ]

3. PYTITI . AT YT I ST &

4. PUT AT . ApT PUT I TT &

Options :

68634091365. 1
68634091366. 2
68634091367. 3
68634091368. 4

Question Number : 43 Question Id : 68634023122 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Device used for testing colour fasteners to washing 1s called crockmeter.

Statement II: Device used for testing colour fasteners to light is called light fastness tester.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 1s false but Statement I 15 true

Options :

68634091369. 1
68634091370. 2
68634091371. 3
68634091372. 4

Question Number : 43 Question Id : 68634023122 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYF I YdTs & A1H I T ] GabI9 (R BRe-H) - ard 99 B HldHIeR H5d o

Y II: THI & HIHH I T DT UGHI (HOR PREAY) Sl adl 0 Bl Asc BRe-T ol dod ol
IR HYA & HTdAD 1, A (S0 0 [deed] H U Usl 30 &1 999 DI9I0:

1. Y1 AR I 2HI T &
B AR GH SFET B

| ]

3. PYTITI . AT YT I ST &

4. PUT I ITT . ApT PUT I TT &

Options :

68634091369. 1
68634091370. 2
68634091371. 3
68634091372. 4

Question Number : 44 Question Id : 68634023123 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Felts are formed using kitting technique.

Statement IT: Knitting 1s categorized under non-woven fabric construction.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 1s false but Statement I 15 true

Options :

68634091373. 1
68634091374. 2
68634091375. 3
68634091376. 4

Question Number : 44 Question Id : 68634023123 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIECICAIEICUR) S

YL 5 Ab-1D D SWHE § AHaT (Pbee) BT HAT gar g

TYF I1: TS B TR-GAaC] a¥el TRa1 & Sfaq avfiard far s 2|

IR HYA & AP H, A (S0 0 [deed] H U Usl 30 &1 999 DI9T0:
1. YA AR I S 9 §

PYTT AR TSI ST §

| ]

3. PYTITI . AT YT I ST &

4. PUT AT . ApT PUT I TT &

Options :

68634091373. 1
68634091374. 2
68634091375. 3
68634091376. 4

Question Number : 45 Question Id : 68634023124 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Aramids are variants of nylon.

Statement IT: Nomex and Kevlar are aramids launched by DuPont, USA.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 1s false but Statement I 15 true

Options :

68634091377. 1
68634091378. 2
68634091379. 3
68634091380. 4

Question Number : 45 Question Id : 68634023124 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 P RUTU E:

HYF I: WIHSH A & 15 JPR g

HYA I1: 7T 3R HaeR g Uie. TG I AP gRI ard (60 0 WS 3 |
IR HYA & HTdAD 1, A (S0 0 [deed] H U Usl 30 &1 999 DI9I0:

1. PYAI RIS Ga &
BT AR IS JFT B

{ )

3. PYTIId . AT YT I ST &

4. FYT I, AP T FUT I TT &

Options :

68634091377. 1
68634091378. 2
68634091379. 3
68634091380. 4

Question Number : 46 Question Id : 68634023125 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Benzene ring is Inter polymer bonding.

Statement IT: Vander Waal's forces is Intra polymer bonding.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement I are correct

[ B

. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II 1s incorrect

4, Statement I 1s incorrect but Statement II 1s correct

Options :

68634091381. 1
68634091382. 2
68634091383. 3
68634091384. 4

Question Number : 46 Question Id : 68634023125 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 P RUTU E:

Y 1: i BT ool aR-UIHR d gar g

HY I1: T S 10 T Sa=-I1TaHR §e ST 3|

IR HYA & HTdAD 1, A (S0 0 [deed] H U Usl 30 &1 999 DI9I0:
1. YA AR I S 9 §

PYTT AR TSI T B

| ]

3. PYTITI . AT YT I ST &

4. PUT I ITT . ApT PUT I TT &

Options :

68634091381. 1
68634091382. 2
68634091383. 3
68634091384. 4

Question Number : 47 Question Id : 68634023126 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the followmng steps of production of linen in the correct sequence of order :

A. Harvesting
B. Rippling
C. Retting

D. Breaking
E. Scutching

Choose the correct answer from the options given below:

1.b.ABCD,E

| B

.B.C.A.D.E
JJAC.B.DE

4 A E.D.CB

Options :

68634091385. 1
68634091386. 2
68634091387. 3
68634091388. 4

Question Number : 47 Question Id : 68634023126 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

o4 (B1eeh) &1 3dIa:

A. HeTs (BRAREm
B. Bahad (Ryfem)
C. fameH Rifem
D. faya (sifd)
E. faye (Fpfam)

Hid U U f[deedl | U 9el 3R &l 994 SIo:

1.LA,B.C,D.E

By CADVE

[ )

3:AC.B;DE

4 AEDCB

Options :

68634091385. 1
68634091386. 2
68634091387. 3
68634091388. 4

Question Number : 48 Question Id : 68634023127 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the followmg steps mvolved in Spimning of cotton yarns m the correct sequence of order :

A. Ginning
B. Bale

C. Carding
D. Roving
E. Combing

Choose the correct answer from the options given below:

1LA.B.C.E.D

|

.A.B.C.D.E
3JAB.D.C.E

4B.A.C.D.E

Options :

68634091389. 1
68634091390. 2
68634091391. 3
68634091392. 4



Question Number : 48 Question Id : 68634023127 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d (Ple) & °Fl B Hels:
A. T
B. BRI (6d)
C. IS
D. Jfd
E. D AT (DITET)
i< f3U T fasedl § § Hel SR @1 99 S

1LA B CED

| ]

LA B.C.D.E
3.JABD.CE

4. B.A.C.D.E

Options :

68634091389. 1
68634091390. 2
68634091391. 3
68634091392. 4

Question Number : 49 Question Id : 68634023128 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of Weaving on handloom 1in the correct sequence of order:

A Picking
B. Let off
C. Shedding
D. Beating
E. Take off

Choose the correct answer from the options given below:

1.B,C,A,D,E

| B

A B.C.D.E
3JAD.C.B.E

4 EAB.C.D

Options :

68634091393. 1
68634091394. 2
68634091395. 3



68634091396. 4

Question Number : 49 Question Id : 68634023128 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BUBRYT 1S P HITT 8

A. T ()

B. (A& e 441 (7le-31h)
C. g (=TS

D. faeA (difem)

E. SARAT (CP-3H1h)

i fau U fasedi | ¥ 98l IR & 98- Hifo:

1.B,.C.A.D.E

| ]

CAB.CDUE
3ADCREE

4. E.A B.C.D

Options :

68634091393. 1
68634091394. 2
68634091395. 3
68634091396. 4

Question Number : 50 Question Id : 68634023129 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the followmg Complexity weaves in the correct sequence of from simple to advanced:

A. Jacquard
B. Crepe

C. Diamond
D. Rib

E. Plam

Choose the correct answer from the options given below:

1.b.ABC,D,E

| B

.E.D.C.B.A
JEC.D.B.A

4 C.D.B.A E

Options :
68634091397. 1



68634091398. 2
68634091399. 3
68634091400. 4

Question Number : 50 Question Id : 68634023129 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QT W WX dP 19 i SffcardT:

A SHTS
B.®HU
C.SgHs
D. @

E. TS (%)

=i feu U fowedl § T I8 TR &1 99 BT

1.LA.B.C,D.E

| ]

E,D.C,B.A

E.C.D.B.A

[ ¥]

4.C.D.B.AE

Options :

68634091397. 1
68634091398. 2
68634091399. 3
68634091400. 4

Question Number : 51 Question Id : 68634023130 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rank the yarns from thinnest to the thickest in their diameter.

A 40/2 cotton

B. 70 D nylon filament
C. 15/1 cotton

D. 2/40 worsted

E. 6 cotton

Choose the correct answer from the options given below:
I1.LB.D,A.C,E
2.AB.C.D.E
JEEA.B.C.D

4 D.AB.CE

Options :

68634091401. 1
68634091402. 2
68634091403. 3
68634091404. 4

Question Number : 51 Question Id : 68634023130 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR (A1) B F1eh T B HS a1 H U701 & YR TR PHIG DIToIU:
A. 40/2 9d (Plc)

B. 70 D TO@ et

C. 15/1 gd (Ple)
D.2/40 AR S

E. 6 gd (Plc)
i f3U U f[deedl |§ U el IR &l 984 Dife;

1.B.D.A.C.E

-

A, BC, DV E
3.EA B CD

4D.AB.CE

Options :

68634091401. 1
68634091402. 2
68634091403. 3
68634091404. 4



Question Number : 52 Question Id : 68634023131 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the followmg steps of Jacquard weave development on fabric in the correct sequence of order :

A. Design on graph paper

B. Punching of cards

C. Warping of varns attached to hooks

D. Weave designation

E. For shed creation and for every pick one card assumes position.

Choose the correct answer from the options given below:

1.b.ABC,D,E

| B

E.LA.B.C.D
3JADBCE

4 B.ADCE

Options :

68634091405. 1
68634091406. 2
68634091407. 3
68634091408. 4

Question Number : 52 Question Id : 68634023131 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PUS IR SBHIS §lg B [AH:

AU DTG U Ts9lld-

B. ®Is &I U HIAT
C. 5P U IS UF (@) B THES (@) ST

D. §A1ae HyRor

E. 318 i iR vde U & o ve @18 &1 oiTe IR 3T ofdl &

i f3U U [daedl | U el 3R &l 994 IO

LA B C.D.E

-

By A B €D
3JAOD.B.C.E

4 B.A.D.C.E

Options :

68634091405. 1
68634091406. 2
68634091407. 3



68634091408. 4

Question Number : 53 Question Id : 68634023132 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps mnvolved in Approval of lab dyes and strike offs in the correct sequence of order :

A. Dye a switch to match retailer's shade, Lab dye

B. Buyer's approval

C. Prints coloured according to approval. strike offs
D. Fabric technologist for not using banned dye stuffs
E. Strike offs 1s a light box for perfect match-up.

Choose the correct answer from the options given below:

1.LABCD.E

[ )

.E,A,B,C.D
31D ABCE

4 E.A.B.D.C

Options :

68634091409. 1
68634091410. 2
68634091411. 3
68634091412. 4

Question Number : 53 Question Id : 68634023132 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRINTRITET $TTs (16 STs) 3R Led 3B &1 SHE;

A. e IMRT (RETR) & 01 9 HaH & fau W9 B 3E (S18), WA= 37 (9d 1)
B. 6% ®I Wipfd
C. Wipld & a@?ﬂfﬁfﬁ@ﬂé 5P D
D. BUST aHAIREA, difds aﬁ‘mas»&cmmswm:@
E. 31a% firdH & Rt ©E o 3 5 01 foa8 1 7T

- fau TTe fam el # € Hel SR &1 997 S

1.LA B,C,D.E

| ]

.ELA.B.C.D
3.D.AB.C.E

4 E.AB.D.C

Options :
686340914009. 1



68634091410. 2
68634091411. 3
68634091412. 4

Question Number : 54 Question Id : 68634023133 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Fotor spinning 1s also called as open end spinning.

Reason R: It emits the step of forming a roving. The transportation of fabrics is done using air on a rotor
machine.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are correct and R 13 the correct explanation of A

[

. Both A and R are correct but R 1s not the correct explanation of A
3. A 1s correct but R 15 not correct

4. A 15 not correct but R 15 correct

Options :

68634091413. 1
68634091414. 2
68634091415. 3
68634091416. 4

Question Number : 54 Question Id : 68634023133 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 BUH U B, 0% SAfUHUA (Assertion A) & =9 H fRId g T S¥RT 39D BRI (Reason R) B
0o

SfUBYT A: X TaTs (KA BT 394 €S Farg (G- wer ol

PRI R: T8 AT T & TR0N BT Foqo Bal € | e T W 8d1 BT IUANT S 9] (BIga) B
SUR A JUR & ST ST o

SWRIad Y & fTdld H, 113U U fasedl ¥ I T Sugad 3R &1 90 BIfe:
1. A 3R R 3l 9E1 § SRR, A D! U AR ¢

A SRR EF 98 § SR R. A %1 G e gl &

AT AR TS TR

AHEI T g AMPTRTBI B

-

T

e



Options :

68634091413. 1
68634091414. 2
68634091415. 3
68634091416. 4

Question Number : 55 Question Id : 68634023134 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: Polymers have the option of lyving around without any order or in random manner, it is called as
amorphous arrangement.

Reason R: These polymers are chemically strong.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R 13 not correct

4. A 15 not correct but R is correct

Options :

68634091417. 1
68634091418. 2
68634091419. 3
68634091420. 4

Question Number : 55 Question Id : 68634023134 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁﬁﬁmﬁmm % Udh SfmYA (Assertion A) %Wﬁ%ﬁﬁﬁ%?ﬁmmw (Reason R) ©
&y h;

Y A: TR & U fa1 fopell e o o 31 afid Tiie 9 o+ 3@ &1 f[aded gIaT 3 158 UP
PR / §&d ITI HET 1l & |

BRI R: T8 UIAR WS 9 J gl g 2|
SIS By & 1l 1, 19 f3u U fdeedi T 9 9ad 3ugad 3R &1 98- SIfe:
1. A IR R &I 98l € SRR, A S| U5l AT ©
2. A R R I U8l § SRR, A DI Hel AR T8I &
3. ATE S AfT R I ST R
1 AT IR AP R TE R

Options :

68634091417. 1
68634091418. 2
68634091419. 3
68634091420. 4

Question Number : 56 Question Id : 68634023135 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Warpwise shrinkage is called relaxation shnnkage in fabrics.

Reason R: When a woven fabric 1s immersed in water, it relaxes with warp ends going back to their normal
length.

In the Light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A 15 correct but R 18 not correct

4, A is not correct but R is correct

Options :

68634091421. 1
68634091422. 2
68634091423. 3
68634091424. 4



Question Number : 56 Question Id : 68634023135 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & HUH U U B, TP SHUBHUA (Assertion A) $ ¥ H fiRGd § Tl g¥RT 39D BRI (Reason R) B
O H:

HTUFHYT A: PUS| H GG P DI RMEM! s ogl ol ¢

SR R: T J FaH & IURId TS g1 341 PUST o1a1 US Wl g SR SHD a1 & R G- FH=
TaTs TR a9 Id o & |

SIS By & 1l 1, 19 f3u U fdeedi T 9 9ad 3ugad 3R &1 98- SIfe:
1. A SRR G 98l & SRR A DI U5l AT §

A SRR A 98 € AR R. A D! He| oI 6l §

AT IR TSR

 ATBI T8 g AT R UEI B

Options :

68634091421. 1
68634091422. 2
68634091423. 3
68634091424. 4

| ]

5]

e

Question Number : 57 Question Id : 68634023136 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: When the reactive monomers are identical. the resultant polymer 1s a homopolymer.
Reason R: Nylon 6. polypropyline, polythene are examples of homopolymers.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A

. A 15 correct but R is not correct

LF¥]

4, A 15 not correct but R is correct

Options :

68634091425. 1
68634091426. 2
68634091427. 3
68634091428. 4



Question Number : 57 Question Id : 68634023136 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁéﬁwmm % Ud HfiHY (Assertion A) %mﬁﬁﬁaﬁ%ﬁgﬂﬂmw (Reason R) 7]
g H:

g{ﬁ-@ﬂ'—r A: 519 Hfdferarsiid 9HY S0 81d 8. df gRuH Ui R U 9Hagad (SHIeHR) gidl
|

HRYT R: AT 6, WA, UiigUrgel Taaga® (SIHUIEs) & 3aeu gl

SWRIGd B & ATdld H, 14 f3u U fasedl ¥ I T Sugad 3R &1 98- BIfeid:
1. A SRR EHI T8! § 3N R, A DI UE AT B

LA SRR S T8I § SR R. A B UE] ATEAT TS &

AT 3 AfFAR U AR

. A g T8I ¢ Al R IEI &

Options :

68634091425. 1
68634091426. 2
68634091427. 3
68634091428. 4

[ )

faa

oY

Question Number : 58 Question Id : 68634023137 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Eri Silk 1s mainly found in Assam.

Reason R: These worms feed mainly on castor and kesseru leaves.
In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are correct and R 13 the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A1s correct but R 15 not correct

4. A 1s not correct but R 15 correct

Options :
68634091429. 1
68634091430. 2



68634091431. 3
68634091432. 4

Question Number : 58 Question Id : 68634023137 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g HUH U U §, Ud SHUHUA (Assertion A) b ¥ H fRad § Tl g¥RT 39D BRI (Reason R) B
U H:

fUHY A: T W (i) g2 &9 9 399 I e g

HRUIR: T8 Blo T TR W HIE 3R 3RS & Tal WA |

SIS Y & fTdld H, 14 30 U faeedl # I Tad Sugad 3R &1 98- SIfe:
1. A SR R & 981 § SR R. A 31 &I AT &

A SRR EH HEI § AR R. A DI U5 ARAT TGl §

AT AfFIR TSR

AT TRIgAfPTIR T ®

Options :

68634091429. 1
68634091430. 2
68634091431. 3
68634091432. 4

-

LFS]

fos

Question Number : 59 Question Id : 68634023138 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Bio-constituent yvarn can be made by chemical spining.

Reason R: It consist of two variants of same generic type fabrics like Nylon 6 and Nylon 6. 6.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A

. A 15 correct but R 1s not correct

LN

4. A is not correct but R is correct

Options :
68634091433. 1
68634091434. 2



68634091435. 3
68634091436. 4

Question Number : 59 Question Id : 68634023138 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g HUH U U §, Ud SHUHUA (Assertion A) b ¥ H fRad § Tl g¥RT 39D BRI (Reason R) B
U H:

HTUBYA A: [gUcd (@RidI<legUe) I3/ UH (IH) S IFAHS Harg GRI a1 o Gl 3|
PRI R: ST FH@A 6 3R AT 66 o1 A 3{TH FHR P = (BISER) & &l UPR eld o |
SIS Y & fTdld H, 14 30 U faeedl # I Tad Sugad 3R &1 98- SIfe:

1. A SR R & 981 § SR R. A 31 &I AT &
. A SRR M Hel € AR R. A D! | RAT 61 &
AT AfFIR TSR
AT TRIgAfPTIR T ®

Options :

68634091433. 1
68634091434. 2
68634091435. 3
68634091436. 4

-

LFS]

fos

Question Number : 60 Question Id : 68634023139 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Ganga-Jamuna usually refers to two different metallic threads used m the making design pattern
of Banarasi saree.

Reason R: It 1s also refers to two borders and end pieces of different colours, so making the sari reversible.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A 1s correct but R 15 not correct

4. A 15 not correct but R 1s correct

Options :
68634091437. 1



68634091438. 2
68634091439. 3
68634091440. 4

Question Number : 60 Question Id : 68634023139 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂ‘ﬁrﬁfaﬂﬁﬁqm % Ud YA (Assertion A) %mﬁ%@ﬁ%ﬁmwﬁw (Reason R) G
=g H:

SFUFHYT A: TS STHAR U AR el & [S6gd Ued & §H § Suan] fde §H ard 2 Sl
3R ©Tq & T &1 Yafifd BRar g

PRI R: Tg AT 301 & 2l aiex 3R BRI @I U Hefila o ¢, oo 981 3idewT 84 odl g
SURIER - & 3Tl H, A U U fasedl § ¥ a9 SUged 3R &1 99 Hifeil:
1. A SRR EHI 981 § SRR, A DI U5 ARAT 3
A SRR A T8I § IR R. A D! Hol o0& 5l &
AT R AfPTR IS TSR
. A¥EI 6l g Al R WET §

Options :

68634091437. 1
68634091438. 2
68634091439. 3
68634091440. 4

| ]

¥ ]

oY

Question Number : 61 Question Id : 68634023140 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A book Handicrafts of India’ is written by:

1. Kamala S. Dongerkery

[

. Jamila Brijbhushan
3. Jagdish Mittal

4. Kamaladevi Chattopadhyay

Options :

68634091441. 1
68634091442. 2
68634091443. 3
68634091444. 4



Question Number : 61 Question Id : 68634023140 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T® oy 31w gfsar faaa fordt 32
1. HHAT UY, SRS

ST FoTywul
e faad

4. HHATGA! AT

Options :

68634091441. 1
68634091442. 2
68634091443. 3
68634091444. 4

| )

Lad

Question Number : 62 Question Id : 68634023141 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tanchoi brocades originated from:

1. Japan

[

. China

. India

LF¥)

4, Thailand

Options :

68634091445. 1
68634091446. 2
68634091447. 3
68634091448. 4

Question Number : 62 Question Id : 68634023141 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qHaEls / AR sids 3 3d Hal gs?
1, ST9H
G|

3. HIRd

4, UBAS

Options :

68634091445. 1
68634091446. 2
68634091447. 3
68634091448. 4

| )

Question Number : 63 Question Id : 68634023142 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nylon was first developed in which year and by which company?

1. Dupont. USA - 1938

| ]

. Vilensky, USSR - 1942
3. Courlands Fibres - 1905
4. Vilensky and Gohl - 1902
Options :
68634091449. 1
68634091450. 2

68634091451. 3
68634091452. 4

Question Number : 63 Question Id : 68634023142 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATaar &1 fosT Ugdl IR ®1F 9 a8 & AR [T o=t & gRT fosar T U
. gUie. SHRIPT - 1938
fod@!, quauEeR - 1942

[a—y

| ]

3. PRCISH BIgad - 1905

[

4. faciea! SR TG - 1902

Options :
68634091449. 1



68634091450. 2
68634091451. 3
68634091452. 4

Question Number : 64 Question Id : 68634023143 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does numeric value denote Nylon 6 and Nylon 6.6

1. Number of carbon atoms present

[ o)

. Value of carbonyl oxygen atom present

L¥¥]

. Value of Nitrogen atoms present

4. Value of Amino hydrogen present

Options :

68634091453. 1
68634091454. 2
68634091455. 3
68634091456. 4

Question Number : 64 Question Id : 68634023143 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG 6 SR AW 6.6 BT ifdrd 717 o1 Gy Pvar g2
. Ia IRATILS B dd - &
 PIE AT IRE] H1 FaqH e
GO TR T T He

4. U BTISIeH & a9 g

[

| ]

Lad

Options :

68634091453. 1
68634091454. 2
68634091455. 3
68634091456. 4

Question Number : 65 Question Id : 68634023144 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fibre used for sanitary and medical/surgical end uses:

1. Avrl

(]

. Absorbit
3. Durvil
4. Courcel

Options :

68634091457. 1
68634091458. 2
68634091459. 3
68634091460. 4

Question Number : 65 Question Id : 68634023144 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH-9wTg, 3R i ey b § Sudi fear S arar =1 (Brga)-
1. qand

 Ussifdige

3. S3ad

4. PIA

Options :

68634091457. 1
68634091458. 2
68634091459. 3
68634091460. 4

[ )

Question Number : 66 Question Id : 68634023145 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nylon was the first synthetic fibre marketed by:

1. Aditya Birla, India

[ )

. Du Pont, USA
3. Thapar, India

4. None of the above

Options :
68634091461. 1
68634091462. 2



68634091463. 3
68634091464. 4

Question Number : 66 Question Id : 68634023145 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g8 9 fhu- ugd o0 (Ridfesd) Brger & &4 H A/gdi- ol fauur fdar un
1. 3ffean fagdn, URd
YT, YA

4, SRIad § 9 i ol

Options :

68634091461. 1
68634091462. 2
68634091463. 3
68634091464. 4

-

Lad

Question Number : 67 Question Id : 68634023146 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the maximum temperature a silk fabric can be treated with?

1. less than 220° C

(]

. less than 150° C

. less than 100° C

|5

4. higher than 150° C

Options :

68634091465. 1
68634091466. 2
68634091467. 3
68634091468. 4

Question Number : 67 Question Id : 68634023146 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s W Y8 &I fa ifeds amuH &R Iu=niG f&ar & 9&dr 82
1.220°90. U HH

L 150° 9. O &HH

| )

3.100° 9. 9 A

4.150° 9. 9 FH

Options :

68634091465. 1
68634091466. 2
68634091467. 3
68634091468. 4

Question Number : 68 Question Id : 68634023147 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lappet weave is generated by:

1. Adding extra warp yarn

[

. By Jacquard pattern

3. Adding extra weft

s

. skipping alternate warp

Options :

68634091469. 1
68634091470. 2
68634091471. 3
68634091472. 4

Question Number : 68 Question Id : 68634023147 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢UT gATaC SO gl o

1. Sffafee aF1 F/AmT @ ar) Se- 9
SI®TS Ued 9
AT 91T (@9 Sl O
TSR JE1 (@) Bl I

Options :
68634091469. 1

| ]

Lad

o



68634091470. 2
68634091471. 3
68634091472. 4

Question Number : 69 Question Id : 68634023148 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Corduroy fabrie 1s achieved by:

1. Cutting of piles filling yarns

[ o)

. Flocking method

L¥¥]

. Weaving

4, Burnout Method

Options :

68634091473. 1
68634091474. 2
68634091475. 3
68634091476. 4

Question Number : 69 Question Id : 68634023148 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L ]

Hled HUS] g1 & U
YT (@) H 1R e 31 ders
TRl fafe

R
4. §3M3e 3y

Options :

68634091473. 1
68634091474. 2
68634091475. 3
68634091476. 4

[a—y

| ]

Lad

Question Number : 70 Question Id : 68634023149 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To produce bulk type yarns which method 1s not used:
1. Stuffer Box
2. Air Jet

3. Knit - Deloit

o

. OE Spun yarn

Options :

68634091477. 1
68634091478. 2
68634091479. 3
68634091480. 4

Question Number : 70 Question Id : 68634023149 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g1 3 foh A & Ares 9 oie YR & /4T (A1) BT I8 a! (6] STl

1. TH diag

| )

TR o
3. e fafae

4. OE WA OH

Options :

68634091477. 1
68634091478. 2
68634091479. 3
68634091480. 4

Question Number : 71 Question Id : 68634023150 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Paithani sari of Maharashtra weaves in:

[—y

. Supplementary weft

[ o)

. discontinues weft
3. mterlocked weft

4. Additional warp

Options :
68634091481. 1
68634091482. 2



68634091483. 3
68634091484. 4

Question Number : 71 Question Id : 68634023150 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HERIY @ YS! WIol &1 g15 & FudiT fohal S §:

1. IX& §HF (dF)

| )

. 3 Edd g1 (%)
. R4 §11 (dF)
4, ffafvag ad

Options :

68634091481. 1
68634091482. 2
68634091483. 3
68634091484. 4

T

Question Number : 72 Question Id : 68634023151 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Patola Sari is traditionally woven by:

1. Vohra

o)

. Salvi

. Bhatia

L¥¥]

4. Brahmins

Options :

68634091485. 1
68634091486. 2
68634091487. 3
68634091488. 4

Question Number : 72 Question Id : 68634023151 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ueiel Urel &l URUIR® &9 9 §4d -
1. T

. Tl

3. Hifean

4. SITRI0T

Options :

68634091485. 1
68634091486. 2
68634091487. 3
68634091488. 4

| )

Question Number : 73 Question Id : 68634023152 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fibre is NOT melt spun?

1. Nylon 6

]

. Acrylic

%)

. Polyester

4, Nylon 6.6

Options :

68634091489. 1
68634091490. 2
68634091491. 3
68634091492. 4

Question Number : 73 Question Id : 68634023152 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI I (FTeaR) TT9d Tars (Hee ) 9 61 &1 oI

1. A 6
RUFATED
 OIfeueR

4. FIAH 6.6

| )

faa

Options :
68634091489. 1



68634091490. 2
68634091491. 3
68634091492. 4

Question Number : 74 Question Id : 68634023153 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fade - ometer or Weatherometer 1s used to test:

1. Colorfastness to Frosting

[ o)

. Colorfastness to Crocking

L¥¥]

. Colorfastness to Dry Cleaning

4. Colorfastness to Light

Options :

68634091493. 1
68634091494. 2
68634091495. 3
68634091496. 4

Question Number : 74 Question Id : 68634023153 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WS- 3THeR O7 dex 3fiHiex &1 I o1 wie & fore favam siar g2

1. W] T 1 1 Yeeh 19 (e B -H)

| ]

. I T T B Yah 10 (PR BRE-w)

Lad

. ST5 G- H X BT GG 10 (TR )

4. YD1 H T 6 Gah1U (S BRE-)

Options :

68634091493. 1
68634091494. 2
68634091495. 3
68634091496. 4

Question Number : 75 Question Id : 68634023154 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which fibre 1s not generally used as stitching thread?

1. Cotton

(]

. Nylon

(5]

. Polyester

4. Rayon

Options :

68634091497. 1
68634091498. 2
68634091499. 3
68634091500. 4

Question Number : 75 Question Id : 68634023154 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 IR W 59 W (BI5ax) ST ST RHams o1 1 dRe Ta! (el widl?

. (Ple)

(=

LY

ELEIG
3. GifeTuEeR
4. 39

Options :

68634091497. 1
68634091498. 2
68634091499. 3
68634091500. 4

)

Question Number : 76 Question Id : 68634023155 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fibre comes from the Augora goat. mainly found in territory:

1. Cashmere

[ o)

. Alpaca
3. Mohair

4, Vienna

Options :
68634091501. 1
68634091502. 2



68634091503. 3
68634091504. 4

Question Number : 76 Question Id : 68634023155 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T &9 4 bl H Uil o aTelt SITTRT a9 &1 9 <=7 (BIgaw) U 5idl 6:
1. PRHR
. T
3. HIEWR

Options :

68634091501. 1
68634091502. 2
68634091503. 3
68634091504. 4

| )

Question Number : 77 Question Id : 68634023156 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vast range of knitted home textile products are produced in:

1. Tirupur

]

. Chandigarh

. Delhi

%)

4. Ludhiana

Options :

68634091505. 1
68634091506. 2
68634091507. 3
68634091508. 4

Question Number : 77 Question Id : 68634023156 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 TR
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Options :

68634091505. 1
68634091506. 2
68634091507. 3
68634091508. 4

| )

Question Number : 78 Question Id : 68634023157 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dacron 1s a fibre modification of:

1. Cotton

[

. Acrylic

LF¥)

. Polyester
4. Nylon

Options :

68634091509. 1
68634091510. 2
68634091511. 3
68634091512. 4

Question Number : 78 Question Id : 68634023157 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S g I (BrEe)) TueF B
1.gd
2. Ulchlarp
3, gifiieY
4, A
Options :

68634091509. 1



68634091510. 2
68634091511. 3
68634091512. 4

Question Number : 79 Question Id : 68634023158 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Filament varn are than spun yarns of the same diameter of fibre type:

1. Stronger

[ o)

. Weaker

. Harder

L¥¥]

4, Softer

Options :

68634091513. 1
68634091514. 2
68634091515. 3
68634091516. 4

Question Number : 79 Question Id : 68634023158 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

firame e @) PR ISR S I AN G e gl @iy el
1. T

 PHAR

3.3

| ]

4. gaH

Options :

68634091513. 1
68634091514. 2
68634091515. 3
68634091516. 4

Question Number : 80 Question Id : 68634023159 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Studios which employs a team of designers for print-development are called:

1. Print design studios

L2

. Print development studios
3. Textile design studios

4. Art studios

Options :

68634091517. 1
68634091518. 2
68634091519. 3
68634091520. 4

Question Number : 80 Question Id : 68634023159 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BUTS (1317 [aPRId B3 & oY FSWIgRI & & PI FHge P ard E$al Head o
1. fofe f&wg ¥fsa
. Ttje fasbry (Saaytic) ¥isal

[ )

i ——

3, CHICISd (SWs Wiadl

4. 31E FfEl

Options :

68634091517. 1
68634091518. 2
68634091519. 3
68634091520. 4

Question Number : 81 Question Id : 68634023160 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fabric will be a discharge print if -

1. It 1s done with heat transfer method

[

. The background colour is same shade on the face and back of fabric
3. Wax like resinuous substance 1s used in the printing process
4, The printing causes stiffening of fabric

Options :

68634091521. 1
68634091522. 2



68634091523. 3
68634091524. 4

Question Number : 81 Question Id : 68634023160 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U1 U@ (e 5915 (STl gfe) 97 S o -
.3 &N BRI (B1C 2RR) fafy 9 s+ oy
DY & el 3R SigHl feR # §Hard s &1 W YA 8l
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4, BUS & PR HUS] HSH &l oy
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T

Options :

68634091521. 1
68634091522. 2
68634091523. 3
68634091524. 4

Question Number : 82 Question Id : 68634023161 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Carriers or swelling agents are used in dyeing to improve:

1. Softness of fibre

[

. Dye exhaustion

L%

. Uniformity of color

4. Slow the process of dye uptake

Options :

68634091525. 1
68634091526. 2
68634091527. 3
68634091528. 4

Question Number : 82 Question Id : 68634023161 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Lad

Options :

68634091525. 1
68634091526. 2
68634091527. 3
68634091528. 4

Question Number : 83 Question Id : 68634023162 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following fabric has high resilience:

1. Flax

[

. Rayon

. Cotton

L¥¥]

4. Polyester

Options :

68634091529. 1
68634091530. 2
68634091531. 3
68634091532. 4

Question Number : 83 Question Id : 68634023162 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfafad oue & 3=-a0ad el &

%

4. QIR

Options :
68634091529. 1



68634091530. 2
68634091531. 3
68634091532. 4

Question Number : 84 Question Id : 68634023163 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is a property of canvas fabric?

1. It 1s a light weight fabric

[ o)

It 15 a twill weave fabric

L¥¥]

It 13 a heavy weight fabric

4. It 18 used for light suiting

Options :

68634091533. 1
68634091534. 2
68634091535. 3
68634091536. 4

Question Number : 84 Question Id : 68634023163 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B HYS 1 [0 1 6:

U U §eb] HUST &

[

| ]

TEiia e FTFusI g
7§ UF I9ER TUST &
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Options :

68634091533. 1
68634091534. 2
68634091535. 3
68634091536. 4

Lad

Question Number : 85 Question Id : 68634023164 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How 1s ANTI-STATIC finish achieved?

[

. By adding moisture to fabric

(]

. By adding chlorine to fabric

(5]

. By adding texture to fabric

4. Reducing the texture of fabrie

Options :

68634091537. 1
68634091538. 2
68634091539. 3
68634091540. 4

Question Number : 85 Question Id : 68634023164 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U TR-Bfad (- few) uiemo &3 g1iya giar g2
1. PUS Bl 70 SIgH

| )

. P9 H IR HaE

3. ®Ys H g Wiga

4. HYS Bl CFITR HeTdH

Options :

68634091537. 1
68634091538. 2
68634091539. 3
68634091540. 4

Question Number : 86 Question Id : 68634023165 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Chikan embroidery of Lucknow was done on a locally woven muslin called:

1. Gauze

o)

. tanzeb
3. Gan

4. abravan

Options :
68634091541. 1
68634091542. 2



68634091543. 3
68634091544. 4

Question Number : 86 Question Id : 68634023165 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT DI (H- Delg Dl o8 WG =Y U Tl 53 AT U G S1aT oT:

1. 79
3, TI7Slt

| )

4. HeRTdT

Options :

68634091541. 1
68634091542. 2
68634091543. 3
68634091544. 4

Question Number : 87 Question Id : 68634023166 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Acid Dye' are mainly applied on:

1. Protein fibres

[

. Mineral fibres

. Man-made fibres

L¥¥]

4. Cellulose fibres

Options :

68634091545. 1
68634091546. 2
68634091547. 3
68634091548. 4

Question Number : 87 Question Id : 68634023166 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091545. 1
68634091546. 2
68634091547. 3
68634091548. 4

L]

o

Question Number : 88 Question Id : 68634023167 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following dyes 1s readily soluble in water:

1. Napthol dyes

[

. Reactive dyes
3. Disperse dyes
4, Sulphur dyes
Options :
68634091549. 1
68634091550. 2

68634091551. 3
68634091552. 4

Question Number : 88 Question Id : 68634023167 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad O 9 ®1F 9 S15 3/ 4 91 3 g | o2
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Lad

Options :
68634091549. 1



68634091550. 2
68634091551. 3
68634091552. 4

Question Number : 89 Question Id : 68634023168 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most popular pattern of Baluchar Sari 1s:

1. The creeping vine

[ o)

. The peacock

. Tree of life

L¥¥]

4, The Kalka

Options :

68634091553. 1
68634091554. 2
68634091555. 3
68634091556. 4

Question Number : 89 Question Id : 68634023168 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Lad

4. Pl

Options :

68634091553. 1
68634091554. 2
68634091555. 3
68634091556. 4

Question Number : 90 Question Id : 68634023169 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tangaliva weaving. also known as Daana weaving 1s practiced n:

1. Gujarat

(]

. Maharashtra
3. Tamil Nadu

4. Odisha

Options :

68634091557. 1
68634091558. 2
68634091559. 3
68634091560. 4

Question Number : 90 Question Id : 68634023169 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e gATs, f5 SF g% 1 $5d 6. P6l 4 d6G o

1. oidId

: E
3, T SlIS]
4. 3ifew

Options :

68634091557. 1

68634091558. 2

68634091559. 3
68634091560. 4

[ )

Question Number : 91 Question Id : 68634023170 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Waterproof breathable fabrics have lamination of:
1. Teflon
2. Resins
3. Softners
4. Chlorine
Options :

68634091561. 1
68634091562. 2



68634091563. 3
68634091564. 4

Question Number : 91 Question Id : 68634023170 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091561. 1
68634091562. 2
68634091563. 3
68634091564. 4

T

Question Number : 92 Question Id : 68634023171 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 D yarns of 3 yarns ply together will give resultant varn of denier.

1.300d

)

.3/1004d
3.3/6004d

4.100/3d

Options :

68634091565. 1
68634091566. 2
68634091567. 3
68634091568. 4

Question Number : 92 Question Id : 68634023171 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091565. 1
68634091566. 2
68634091567. 3
68634091568. 4

Question Number : 93 Question Id : 68634023172 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twist in yarn 1s denoted by:
1. Threads per inch

2. Turns per inch

[

. Floats per inch
4. Crimp per inch

Options :

68634091569. 1
68634091570. 2
68634091571. 3
68634091572. 4

Question Number : 93 Question Id : 68634023172 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 @) F foee & $9 Ay fraromar 2
1. Ufd S 9T
Wi 391 yATE (&)
4. 9fd 59 Ty

Options :
68634091569. 1

| ]

Lad



68634091570. 2
68634091571. 3
68634091572. 4

Question Number : 94 Question Id : 68634023173 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The combed sliver of wool 15 called as

1. Low

[ o)

. Top

. Sliver

L¥¥]

4. yarn

Options :

68634091573. 1
68634091574. 2
68634091575. 3
68634091576. 4

Question Number : 94 Question Id : 68634023173 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A B Bl B g3 PR DI a1 Bl oIl 27
1.ar

ot
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| ]

4. O

Options :

68634091573. 1
68634091574. 2
68634091575. 3
68634091576. 4

Lad

Question Number : 95 Question Id : 68634023174 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dupion Silk forms when silkworms spin their cocoon together.

1. Two

(]

. Three

. Four

|5

4. Five

Options :

68634091577. 1
68634091578. 2
68634091579. 3
68634091580. 4

Question Number : 95 Question Id : 68634023174 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST 3 98 §9d1 § o1 WS TH WY 3 BIP g7 o
1.3
BSIE|

3.9

[ )

i

4. 44

Options :

68634091577. 1
68634091578. 2
68634091579. 3
68634091580. 4

Question Number : 96 Question Id : 68634023175 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What are the terms that are NOT used to specify color?
1. Value
2. Chroma

. Hue

L%

4, Mixture

Options :
68634091581. 1
68634091582. 2



68634091583. 3
68634091584. 4

Question Number : 96 Question Id : 68634023175 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091581. 1
68634091582. 2
68634091583. 3
68634091584. 4

Question Number : 97 Question Id : 68634023176 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Promostyl & WGSN are examples of:

1. Trade fair

o)

. Street trends

. Trend Research in colour

L¥¥]

4. Fashion Forecasting Packages

Options :

68634091585. 1
68634091586. 2
68634091587. 3
68634091588. 4

Question Number : 97 Question Id : 68634023176 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091585. 1
68634091586. 2
68634091587. 3
68634091588. 4

Question Number : 98 Question Id : 68634023177 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grading process in wool fabric 15 used to check:

1. Elasticity

[

. Fabric fineness and length
3. Quality of fibre
4., Durability of fibre

Options :

68634091589. 1
68634091590. 2
68634091591. 3
68634091592. 4

Question Number : 98 Question Id : 68634023177 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634091589. 1



68634091590. 2
68634091591. 3
68634091592. 4

Question Number : 99 Question Id : 68634023178 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tyre cords, geotextiles, conveyor belts are classified products of

1. Home textiles

[ o)

. Apparel

. Industrial textiles

L¥¥]

4, Smart textiles

Options :

68634091593. 1
68634091594. 2
68634091595. 3
68634091596. 4

Question Number : 99 Question Id : 68634023178 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TR O

TRy

3. SMEfD g
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Options :

68634091593. 1
68634091594. 2
68634091595. 3
68634091596. 4

| ]

Question Number : 100 Question Id : 68634023179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A fibre having 50 warps and 40 wefts in one inch will have fabric (thread) count as:
1. 2000
2.10
3.90

4. 0.8

Options :

68634091597. 1
68634091598. 2
68634091599. 3
68634091600. 4

Question Number : 100 Question Id : 68634023179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% 9 1 50 99 (@) 3R 40 TH (d9) 6 FU< J F (Y1) BT - ST

1. 2000

)

10
3. 90

4.0.8

Options :

68634091597. 1
68634091598. 2
68634091599. 3
68634091600. 4



